Rk 3 14 4 H1 HEBHE (o A0 BARAN+HSNEAN)
K04 TR [ | (A) | B [ (B) | 3 | EF(A+B) [ IR
STy 2,302 7 2, 789 1 2,787 3 5,576 4
JHTRT— T H 1,012 1 965 -11 887 -2 1,852 -13
JEERT — T H 580 6 612 2 583 -6 1,195 —4
AP =T H 626 -3 719 5 670 -6 1, 389 -1
JAFTETIU T H 429 1 469 1 508 1 977 2
HPTHT T H 302 4 329 1 314 3 643 4
HPTHTS T H 281 ~1 373 -3 378 -1 751 —4
FEoEHT 201 1 215 0 228 0 443 0
BA 370 ) 466 3 480 1 946 4
TErH 1, 781 6 1, 992 -8 2, 004 -6 3, 996 -14
PIFrRT 323 0 346 -9 327 2 673 0
Hh T H 845 3 933 3 907 —4 1,840 1
HHT—TH 272 4 373 -9 407 5 780 3
HHT T H 313 2 445 2 443 2 888 4
HHT=TH 483 -5 683 -3 701 -10 1, 384 -13
U T H 262 2 397 1 382 2 779 3
A 230 0 275 0 261 -1 536 -1
W] = 292 1 357 1 348 -3 705 )
— K 439 0 463 -5 491 0 954 -5
— Y ARHI — T H 0 0 0 0 0 0 0 0
Y ARHH T H 28 0 42 0 37 0 79 0
M= H] 105 3 136 1 121 4 257 5
= KT H 4 0 5 0 7 0 12 0
NH 4 615 1 818 1 815 2 1,633 3
S 4, 262 -5 4, 876 -25 5,018 -15 9, 894 -40
IR 4, 480 30 4, 609 2 4, 666 18 9, 275 20
A 1,303 -6 1, 482 -14 1, 530 -3 3,012 -17
=+ H 6 0 8 0 8 0 16 0
s tHR—TH 879 1 836 1 986 -2 1, 822 -1
ELtHR TH 1, 067 6 1,098 -3 1,178 6 2,276 3
HE+tH=TH 858 2 860 -3 871 6 1,731 3
LRI TH 680 9 703 6 734 3 1, 437 9
HEtHRETH 679 5 806 2 715 1 1,521 3
=EL+HH/NTH 0 0 0 0 0 0 0 0
4 1, 820 —/ 1,906 -21 1, 862 -6 3, 768 -27
oy —T H 272 4 315 5 288 0 603 5
war T H 230 2 259 1 240 1 499 2
Wy ="TH 428 -3 456 -4 479 -3 935 -7
s U] H 678 8 719 3 752 -6 1,471 -3
i e T H 397 1 473 -3 491 -3 964 -6
T — T B 257 0 298 -2 345 -1 643 -3
FAET — T H 558 -5 610 -13 685 -7 1,295 -20
FEET =T A 195 1 219 | 281 -2 500 -3
it 31, 144 75 34, 735 -81 35, 215 -27 69, 950 -108
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